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$f(x)$0%a, b(a\neq )$T D DOODODOO$ISO $n$O OO O OO ODODO
goooao

$$

\frac{1}{(n-1)!'}\int_a"b (b-x) "{n-1}f"{(n)}(x)dx
=\frac{f"{(n)}(c)Hn!}(b-a)"n \gquad (a<xz<b)

$$

O000O$c\in (a,p)$0 00000

ao)
$(b-x)"{n-1}>0$000000000000000O0OO
$$

\int_a"b (b-x) " {n-1}f"{(n)}(x)dx
=f~{(n)}(c)\int_a"b (b-x) "{n-1}dx
=f"{(n)}(c)\frac{-1}{n}\Bigl [(b-x) "n\Bigr]_a"b
=\frac{1}{n}f " {(m)}(c) (b-a)"n

$$

O000$c\in (a,p)$0 000000000

$$

\frac{1}{(n-1)!'}\int_a"b (b-x) "{n-1}f"{(n)}(x)dx
=\frac{1}{n'}f"{(n)}(c) (b-a)"n.

$$

oo 7.2

gooooooooo

\begin{center}

(1) $\displaystyle \int_1"2 \frac{\log x}{x}dx$
$\qquad$

(2) $\displaystyle \int_0"\pi \sin"n x dx$
\end{center}

(oo

(1) $\displaystyle I=\int_1"2\frac{\log x}{x}dx$0 O OO DO
$$
I=\Bigl[\log x \cdot \log x \Bigr]l_1"2 - \int_1"2 \frac{\log x}{x}dx

=(\log 2)"2-I

$$

000 O$\displaystyle I=\frac{(\log 2)"2}{2}$00 0 O
(2)

$\displaystyle I_n = \int_0"\pi \sin"n x dx$00 00O
\begin{eqgnarray*}

I_n &=& \int_0"\pi \sin"{n-1}x\cdot \sin x dx
=\Bigl[-\sin"{n-1}x\cdot \cos x \Bigr]_0"\pi
+\int_0"\pi (n-1)\sin"{n-2}x\cdot \cos~2 x dx\\
&=&(n-1)\int_0~"\pi \sin"{n-2}x(1-\sin"2 x)dx
=(n-1) (I_{n-2}-I_n)

\end{egnarrayx*}

good



$$

I_n = \frac{n-1}{n}I_{n-2} \qquad (n\ge 2).

$$

$n$C00O0O00OOO

$\displaystyle I_0 = \int_0~\pi 1 dx = \pi$O OO O

$$

I_n = \frac{n-1}{n}\cdot\frac{n-3}{n-2}\cdots \frac{3}{4}
\frac{1}{2}I_0

=\frac{n-1}{n}\cdot\frac{n-3}{n-2}\cdots \frac{3}{4}
\frac{1}{2}\pi.

$$

O0O0Os$n$000ooono

$\displaystyle I_1=\int_O0~\pi \sin xdx=

\Bigl[-\cos x\Bigr]_0~\pi=2

$

ogooo

$$

I_n = \frac{n-1}{n}\frac{n-3}{n-2}\cdots\frac{4}{5}\frac{2}{3}I_1
=2\frac{n-1}{n}\frac{n-3}{n-2}\cdots\frac{4}{5}\frac{2}{3}.
$$



